## CONTINENTAL RESOURCES, INC

Form 4 May 23, 2016

# FORM 4

## UNITED STATES SECURITIES AND EXCHANGE COMMISSION Washington, D.C. 20549

STATEMENT OF CHANGES IN BENEFICIAL OWNERSHIP OF

**SECURITIES** 

**OMB** Number:

3235-0287

Expires:

January 31, 2005

0.5

Estimated average

**OMB APPROVAL** 

burden hours per

response...

if no longer subject to Section 16. Form 4 or Form 5

Check this box

obligations may continue. See Instruction

Filed pursuant to Section 16(a) of the Securities Exchange Act of 1934, Section 17(a) of the Public Utility Holding Company Act of 1935 or Section 30(h) of the Investment Company Act of 1940

1(b). (Print or Type Responses)

(City)

1. Name and Address of Reporting Person \* **BERRY WILLIAM B** 

2. Issuer Name and Ticker or Trading Symbol

5. Relationship of Reporting Person(s) to Issuer

CONTINENTAL RESOURCES.

(Check all applicable)

INC [CLR]

05/19/2016

(Last) (First) (Middle)

(Street)

(State)

3. Date of Earliest Transaction (Month/Day/Year)

X\_ Director Officer (give title below)

10% Owner Other (specify

P.O. BOX 268836, 20 N. **BROADWAY** 

4. If Amendment, Date Original

6. Individual or Joint/Group Filing(Check

Applicable Line)

Filed(Month/Day/Year)

\_X\_ Form filed by One Reporting Person Form filed by More than One Reporting

D

Person

Table I - Non-Derivative Securities Acquired, Disposed of, or Beneficially Owned

OKLAHOMA CITY, OK 73126

1. Title of 2. Transaction Date 2A. Deemed Security (Month/Day/Year) Execution Date, if (Instr. 3) (Month/Day/Year)

(Zip)

3. 4. Securities TransactionAcquired (A) or Code Disposed of (D) (Instr. 3, 4 and 5) (Instr. 8)

5. Amount of Securities Beneficially (D) or Owned Indirect (I) Following (Instr. 4) Reported

6. Ownership 7. Nature of Form: Direct Indirect Beneficial Ownership (Instr. 4)

(A) or

Transaction(s) (Instr. 3 and 4) Price (D)

Common

Code V Amount

05/19/2016 A Stock

\$0 49,214 (1) 8.792 Α

Reminder: Report on a separate line for each class of securities beneficially owned directly or indirectly.

Persons who respond to the collection of SEC 1474 information contained in this form are not (9-02)required to respond unless the form displays a currently valid OMB control number.

Table II - Derivative Securities Acquired, Disposed of, or Beneficially Owned (e.g., puts, calls, warrants, options, convertible securities)

| 1. Titl<br>Deriv<br>Secur<br>(Instr. | ative<br>ity | 2.<br>Conversion<br>or Exercise<br>Price of<br>Derivative<br>Security | 3. Transaction Date<br>(Month/Day/Year) | 3A. Deemed<br>Execution Date, if<br>any<br>(Month/Day/Year) | 4.<br>Transac<br>Code<br>(Instr. 8 | 5. tiorNumber of ) Derivativ Securities Acquired (A) or Disposed of (D) | s<br>I              | ate                | Amou<br>Under<br>Secur | le and<br>unt of<br>rlying<br>rities<br>. 3 and 4) | 8. Price of<br>Derivative<br>Security<br>(Instr. 5) | 9. Nu<br>Deriv<br>Secur<br>Bene<br>Owne<br>Follo<br>Repo<br>Trans<br>(Instr |
|--------------------------------------|--------------|---|---|---|------------------------------------|---|---------------------|--------------------|------------------------|--|---|---|
|                                      |              |   |   |   | Code \                             | (Instr. 3,<br>4, and 5)   | Date<br>Exercisable | Expiration<br>Date | Title                  | Amount<br>or<br>Number<br>of<br>Shares             |   |   |

## **Reporting Owners**

| Reporting Owner Name / Address  | Relationships |           |         |       |  |
|---|---------------|-----------|---------|-------|--|
|   | Director      | 10% Owner | Officer | Other |  |
| BERRY WILLIAM B<br>P.O. BOX 268836<br>20 N. BROADWAY<br>OKLAHOMA CITY, OK 73126 | X             |           |         |       |  |

# **Signatures**

/s/ Eric S. Eissenstat, Attorney-In-Fact 05/23/2016

\*\*Signature of Reporting Person Date

## **Explanation of Responses:**

- \* If the form is filed by more than one reporting person, see Instruction 4(b)(v).
- \*\* Intentional misstatements or omissions of facts constitute Federal Criminal Violations. See 18 U.S.C. 1001 and 15 U.S.C. 78ff(a).
- (1) Includes 4,000 shares of restricted common stock which vest on May 15, 2017; 5,422 shares of restricted common stock which vest on May 15, 2018; and 8,792 shares of restricted common stock which vest on May 15, 2019.

Note: File three copies of this Form, one of which must be manually signed. If space is insufficient, *see* Instruction 6 for procedure. Potential persons who are to respond to the collection of information contained in this form are not required to respond unless the form displays a currently valid OMB number. LPADDING="0" WIDTH="100%" BORDER="0" ALIGN="center">

Date of Purchase/Sale

Shares of Common Stock
Purchased/(Sold) Price per Share Total Cost\*

03/04/08

8,830 9.45 83,467.34

03/07/08

4,139 8.77 36,284.54

Reporting Owners 2

|                         | Eugal Filling. CONTINENTAL RESOURCES, INC - FOITH 4 |
|-------------------------|---|
| 03/07/08                |   |
| 3,004 8.62 25,895.68    |   |
| 03/10/08                |   |
| 4,151 8.59 35,651.28    |   |
| 03/25/08                |   |
| 150 8.90 1,335.00       |   |
| 03/26/08                |   |
| 8,010 8.92 71,444.39    |   |
| 04/01/08                |   |
| 1,900 8.77 16,659.96    |   |
| 06/11/08                |   |
| 2,500 7.00 17,499.50    |   |
| 06/16/08                |   |
| 143,858 6.21 892,753.98 |   |
| 06/17/08                |   |
| 12,518 7.02 87,848.82   |   |
| 06/18/08                |   |
| 15,100 6.99 105,559.57  |   |
| 06/19/08                |   |
| 1,400 7.03 9,836.96     |   |
| 06/20/08                |   |
| 16,100 7.18 115,588.34  |   |
| 06/23/08                |   |
| 15,500 7.23 112,071.20  |   |
| 06/24/08                |   |
| 4,000 7.20 28,811.60    |   |
| 06/25/08                |   |
| 8,191 7.44 60,928.75    |   |

| 06/26/08             |    |
|----------------------|----|
| 2,000 7.32 14,640.00 |    |
| 06/26/08             |    |
| 510 7.38 3,764.41    |    |
| 07/16/08             |    |
| 1,030 6.91 7,119.57  |    |
| 07/25/08             |    |
| 2,406 6.87 16,528.02 |    |
| 07/25/08             |    |
| 365 6.85 2,500.25    |    |
| 07/29/08             |    |
| 900 6.60 5,940.00    |    |
| 07/30/08             |    |
| 5,000 6.25 31,266.00 |    |
| 07/30/08             |    |
| 5,000 5.95 29,750.00 |    |
| 08/01/08             |    |
| 5,000 5.50 27,500.00 |    |
| 09/05/08             |    |
| 100 6.31 630.80      |    |
|                      |    |
|                      | 15 |

Edgar Filing: CONTINENTAL RESOURCES, INC - Form 4

| Date of Purchase/Sale | Shares of Common Stock Purchased/(Sold) | Price per Share | Total Cost*  |
|-----------------------|---|-----------------|--------------|
| 09/09/08              | 3,000                                   | 6.31            | 18,926.10    |
| 09/10/08              | 1,620                                   | 6.20            | 10,044.00    |
| 09/16/08              | 228                                     | 5.79            | 1,319.12     |
| 09/16/08              | 100                                     | 5.79            | 579.00       |
| 10/06/08              | 11,700                                  | 4.94            | 57,793.32    |
| 10/07/08              | 3,150                                   | 4.60            | 14,490.00    |
| 10/09/08              | 4,335                                   | 3.95            | 17,122.38    |
| 10/10/08              | 8,200                                   | 3.55            | 29,083.76    |
| 11/12/08              | 800                                     | 2.02            | 1,618.48     |
| 11/12/08              | 10,000                                  | 2.01            | 20,100.00    |
| 11/13/08              | 12,500                                  | 1.98            | 24,750.00    |
| 11/13/08              | 8,000                                   | 1.85            | 14,800.00    |
| 11/14/08              | 10,000                                  | 1.83            | 18,300.00    |
| 11/14/08              | 8,000                                   | 1.87            | 14,937.60    |
| 04/15/09              | (18,109)                                | 2.36            | 42,726.37    |
| 04/30/09              | 10,000                                  | 2.10            | 20,982.00    |
| 06/05/09              | 259,268                                 | 1.35            | 350,011.80** |

All purchases of Common Stock were funded by working capital which may, at any given time, include margin loans made by brokerage firms in the ordinary course of business. As of March [\_\_], 2010 there was no indebtedness outstanding related to Mill Road s purchase of Common Stock

## STOCKHOLDER PROPOSALS

Pursuant to Kona s definitive proxy statement dated March 9, 2010, (i) any Stockholder that wishes to present any proposal for Stockholder action at Kona s annual meeting of Stockholders to be held in 2011 must notify Kona at their principal offices no later than November 20, 2010 in order for such proposal to be included in Kona s proxy statement and form of proxy relating to that meeting and (ii) under Kona s by-laws, Stockholders must follow certain procedures to nominate persons for election as directors or to introduce an item of business at the annual meeting of Stockholders. Mill Road and the Participants take no responsibility for the accuracy or completeness of the information contained in Kona s proxy statement regarding stockholder proposals.

### COST AND METHOD OF SOLICITATION

In connection with the solicitation of proxies in support of the Nominees, the Nominees may make solicitations of proxies. It is anticipated that certain regular employees of Mill Road

<sup>\*</sup> Excludes commissions and other execution-related costs.

<sup>\*\*</sup> This purchase is in connection with Kona s Rights Offering. The date reflects Mill Road s prime broker s records. The subscription occurred on June 3, 2009 and Kona s records indicate that the offering was completed on June 9, 2009.

will participate in any solicitation of proxies that Mill Road and the Participants may undertake in support of the Nominees. Such employees will receive no additional consideration if they assist in the solicitation of proxies. It is anticipated that any proxies would be solicited by mail, courier services, telephone, facsimile or in person. Mill Road has retained InvestorCom, Inc. as a proxy solicitor who will assist with the solicitation of proxies for which InvestorCom, Inc. is to receive a fee not to exceed \$25,000, plus reimbursement for its reasonable out-of-pocket expenses. Mill Road has entered into an agreement with InvestorCom, Inc., pursuant to which, among other things, InvestorCom, Inc. will be indemnified against certain potential liabilities that might arise in connection with InvestorCom, Inc. service as proxy solicitor. It is anticipated that InvestorCom, Inc. will employ up to 15 persons to solicit proxies from Stockholders for the Annual Meeting. The costs related to any solicitation of proxies, including expected expenditures for attorneys, accountants, public relations and financial advisors, proxy solicitors, advertising, printing, transportation and related expenses, will be borne by Mill Road. The total expenditures in furtherance of, or in connection with the solicitation of proxies is approximately \$140,000 to date, and is estimated to be \$250,000 in total. To the extent legally permissible, Mill Road will seek reimbursement from Kona for those expenses if one or more of the Nominees is elected. Mill Road does not currently intend to submit the question of such reimbursement to a vote of the Stockholders.

#### KONA GRILL, INC.

#### 2010 ANNUAL MEETING OF STOCKHOLDERS

GOLD PROXY CARD GOLD PROXY CARD

### THIS PROXY IS SOLICITED ON BEHALF OF

### MILL ROAD CAPITAL, L.P., MILL ROAD CAPITAL GP LLC,

### MILL ROAD CAPITAL MANAGEMENT LLC, THOMAS E. LYNCH, SCOTT P. SCHARFMAN,

### CHARLES M. B. GOLDMAN, JUSTIN C. JACOBS, CRAIG S. MILLER, AND

### LAWRENCE F. HARRIS (THE PARTICIPANTS )

The undersigned stockholder of KONA GRILL, INC., a Delaware corporation ( Kona ), hereby acknowledges receipt of the Proxy Statement of the Participants, dated March [\_\_], 2010, and hereby appoints [\_\_] and [\_\_], each of them proxies and attorneys-in-fact, with full power to each of substitution, on behalf and in the name of the undersigned, to represent the undersigned at Kona s 2010 Annual Meeting of Stockholders, to be held on Wednesday, April 28, 2010, at 2:00 p.m., local time, at the offices of Greenberg Traurig, LLP, at 2375 E. Camelback Road, Suite 700, Phoenix, Arizona 85016, and at any other meeting of stockholders held in lieu thereof or any postponements, reschedulings, continuations or adjournments thereof (the Annual Meeting ), and to vote all shares of Kona Common Stock that the undersigned would be entitled to vote if then and there personally present, on the matters set forth on the reverse side of this Proxy. The undersigned stockholder hereby revokes any proxies previously given with respect to the matters set forth on the reverse side of this Proxy.

This Proxy will be voted as directed or, if no contrary direction is indicated, will be voted FOR the election of the named Class II directors nominated Mill Road Capital, L.P. to serve for a three-year term expiring in 2013.

If you have any questions or require any assistance in executing this Proxy please call:

InvestorCom, Inc.

877-972-0090

GOLD PROXY CARD GOLD PROXY CARD

\*\* Votes must be indicated (x) in Black or Blue ink. \*\*

The Participants recommend a vote FOR each of the following nominees:

## 1. ELECTION OF DIRECTORS:

FOR WITHHOLD
Thomas E. Lynch
Craig S. Miller

" "

**Explanation of Responses:** 

| Lawrence F. Harris "  |                       |
|---|-----------------------|
| To make comments, mark here. "  |                       |
| To change your address, please mark this box. "   |                       |
| (This Proxy should be dated, signed by the stockholder(s) exactly as his or her name envelope. Persons signing in a fiduciary capacity should so indicate. If shares are hel stockholders should sign.) |                       |
|   | Date                  |
|   | Share Owner sign here |
|   | Co-Owner sign here    |
|   |                       |